NTH# % F B + #

HIGH PRECISION MANUAL CHUCK




MmN EDEE (AESHER ) 4 ZNEELRE (AEEHER )

SCT 2 jaw scroll chuck(Front and back mounting) SC 3 jaw scroll chuck(Front and back mounting)

1. E O 1.Plain back 1.EH O 1.Plain back

2 iEf—EE R IF R N&—4H 2.Standard accessories: 1 set outside ER—EXERME—4A 2.Standard accessories: 1 set outside

3EBEEEXE solid jaws and 1 set inside solid jaws 3 EEEE T solid jaws and 1 set inside solid jaws
3.High accuracy on repeating clamping 3.High accuracy on repeating clamping

l HEHFL

back mounting back mounting
G G
I I
E <] = F
<0aow LK <|lolow| ||  EK
QE 88 Qlalale
1 H._ I‘L o [_1,_ ;IV \ifg
m#i || g mE#En (| g
front mounting front mounting
° & 4
-~ ##& / Specification B/ UNIT:mm
/ Specification BAT /UNIT:mm
o & = HE & = B/ Maxﬁﬁzﬁaﬁtﬁzﬂ%ﬁ ue Ma;(ﬁécriﬁﬁﬁgo]me W;fis;ghl & R o Dygﬁr? 9I\Rf‘f;!n e | D%ﬁr’? Pﬁa% c
RISEAR RABFHE BAMKEN : EEEE HFF L R IME Bedr it @ M 1S Model/Spec ] a q - Gripping & RPM - ping Rang .D. ping Rang
Model/Spec Max. Allowable Torque Max. Gripping Force Weight RPM 0.D Clamping Range I.D. Clamping Range N*m KN g mm mm
N*m KN Kg mm mm SC-03 29 9 1.5 2500 2-70 24-64 Z
SCT-04* 44 12 31 2500 3-90 32-84 Ll 44 12 31 2500 3-90 3284
SCT-05* 63 15 4.4 2500 3-110 35-100 SC-05 63 15 4.4 2500 3-110 35-100 4
SCT-06 88 31 11.4 2000 3-160 48-150 SC-06 88 31 114 2000 3-160 48-150
SCT-07 107 31 12.2 2000 4-180 56-170 sSC-07 107 31 12.2 2000 4-180 56-170 I
SCT-08 128 33 16.2 2000 4-180 56-170 SC-08 128 33 16.2 2000 4-180 56-170
SCT-09 147 37 2152 2000 5-220 62-210 SC-09 147 37 21.2 2000 5-220 62-210
SCT-10 176 46 28 1800 6-260 70-250 SC-10 176 46 28 1800 6-260 70-250
SC-12 206 55 41 1800 10-300 86-290
SC-14 225 55 54 1500 12-350 94-330
BU/ARAE SC-16 245 60 74 1500 14-400 100-380
Model/Spec A B C D E = G H J K L
SCT-04* 112 58 80 95 24 45  3(4)-M8x1.25P 42 15 17 8 M% d?gggﬁe A B s D E F a b J K L
SCT-05* : 3(4)-M8x1.25P &
e 24 o ha BE 83 “) @ 2 = o 8 SC-03 85 45 60 73 16 3.5 3-M6x1P 32 11 15 7
SCT-06 167 66 130 147 45 5 3-M10x1.5P 70 20 31 10
SC-04 112 58 80 95 24 4.5 3-M8x1.25P 42 15 1 1T 8
SCT-07 193 76 155 172 58 5 3-M10x1.5P 84 25 28 11 SC-05 132 60 100 115 30 45 3_M8x1.25P 50 20 19 8
SCT-08 203 76 160 176 58 5 3-M10x1.5P 84 25 28 11 SC-06 167 66 130 147 45 5 3—M10X:| 5p 20 20 31 10
ggT—OQ 233 84 190 210 70 i) 3-M12x1.75P 84 25 28 12 SC-07 193 76 155 172 58 5 3_M10x1.5P 84 o5 o8 11
T-10 273 86 230 250 89 5.5 3-M12x1.75P 105 28 33 12 SC-08 203 76 160 176 58 5 3_M10x1.5P 84 o5 o8 11
SC-09 233 84 190 210 70 5.5 3-M12x1.75P 84 25 28 12
SC-10 273 86 230 250 89 55 3-M12x1.75P 105 28 33 12
SC-12 310 96 260 285 105 F 3-M12x1.75P 125 32 41 14
SC-14 355 2 300 328 127 7 6-M12x1.75P 125 32 41 15
SC-16 405 122 345 375 160 8 6-M14x2P 145 36 56 15

. BTIREREIEA4H4{E; Note: The front mounting bolts are 4pcs
+ REEHENNER, 2R BITHEM Subject to technology changes without prior information + REFEHERNER, LA BITHEM Subject to technology changes without prior information

+ JEHEE R AT Non-standard requirements can be made * JEHEE K ATZTH Non-standard requirements can be made




MRNEED K (REHER )

SCF 4 jaw scroll chuck(Front and back mounting)

SKT 2 jaw universal scroll chuck(Front and back mounting)

1. B REE 1.Plain back 1.H O 1.Plain back
2IER—MEAERME—4 2.Standard accessories: 1 set outside 2AFEC o B U HE U—4H 2.Standard accessories: 1 set two—piece hard jaws
3EREEERE solid jaws and 1 set inside solid jaws 3EREEERE 3. High accuracy on repeating clamping
3.High accuracy on repeating clamping
BT B
back mounting | back mounting
G G
e F
F
<o ol w o K <oojwl| | |
SIECIRSIRS! SIS K
: i)
[ S WIv — |
. i = r 48
BISH7L |
front mounting B Bﬂﬁﬁﬂ B
front mounting
© %\/ E %y
##& / Specification B /UNIT:mm #1%& / Specification B4 / UNIT:mm
B 1 B X &R BAmxsy ~ RE oo S RO 1 S5 1 Py £ BABHLE BABKE  OPE oo S SN S5 P 18
Model/Spec Max. Allowable Torque Max. Gripping Force Weight %ﬁﬁpﬁﬁ 0.D Clamping Range I.D. Clamping Range M%diggﬁec Max. Allowable Torque Max. Gripping Force ~Weight %ﬁﬁpﬁﬂ 0.D Clamping Range I.D. Clamping Range Z
N*m KN Kg mm mm P N*m KN Kg mm mm
SCF-04~ 44 12 3.1 2500 3-90 32-84 SKT-04* 44 12 1 2500 3-90 32-84 _I
SCF-05" 63 15 4.4 2500 3-110 35-100 SKT-05* 63 15 4.4 2500 3-110 35-100
SCF-06 88 31 tLA 2000 3-160 48-150 SKT-06 88 31 11.4 2000 8-160 55-150 T
SCF-07 107 31 12.2 2000 4-180 56-170 SKT-07 107 31 12.2 2000 8-180 62-170
SCF-08 128 33 16.2 2000 4-180 56-170 SKT-08 128 33 16.2 2000 8-180 62-170
SCF-09 147 37 21.2 2000 5-220 62-210 SKT-09 147 37 242 2000 11-220 70-210
SCF-10 176 46 28 1800 6-260 70-250 SKT-10 176 46 28 1800 12-260 80-250
BIAARE BIARAE
A B © D E F G H J K L
Model/Spec Model/Spec A B C D E E G H Al K L
SCF-04~ 112 58 80 95 24 45  3(4)-M8x1.25P 42 15 17 8 SKT-04* 112 58 80 95 24 45  3(4)-M8x1.25P  46.5 19 47.5 8
SCF-05" 132 60 100 5 32 45  3(4)-M8x1.25P 50 20 19 8 SKT-05* 132 60 100 115 32 45  3(4)-M8x1.25P 56 22 60 8
SCF-06 167 66 130 147 45 5 3-M10x1.5P 70 20 31 10 SKT-06 167 66 130 147 45 5 3-M10x1.5P 67 25 64.5 10
SCF-07 193 76 155 172 58 5 3-M10x 1.5P 84 25 28 11 SKT-07 193 76 155 172 58 5 3-M10x1.5P 80 30 72 11
SCF-08 203 76 160 176 58 5 3-M10x1.5P 84 25 28 11 SKT-08 203 76 160 176 58 5 3-M10x1.5P 80 30 72 11
SCF-09 233 84 190 210 70 T 3-M12 x 1.75P 84 25 28 12 SKT-09 233 84 190 210 70 5.5 3-M12x1.75P 92 30 83 12
SCF-10 273 86 230 250 89 5.5 3-M12x1.75P 105 28 33 12 SKT-10 273 86 230 250 89 5.5 3-M12x1.75P 92 36 83 12

. BTiIEREIEL B4 ; Note: The front mounting bolts are 4pcs
+ REFEHERNER, RABITHEM Subject to technology changes without prior information
+ JEHEE KA RT# Non-standard requirements can be made

i BIHIEEEIE4 E4/E; Note: The front mounting bolts are 4pcs
+ REHEBERMER, LR BITHEH Subject to technology changes without prior information
+ JEMEER AT Non-standard requirements can be made




ZaARXNBELFE (ARHER ) @, e AN EELRE (REEER )

SKF 4 jaw universal scroll chuck(Front and back mounting)

SK 3 jaw universal scroll chuck(Front and back mounting)

@

1.EH Q& 1.Plain back 1. EOEE 1.Plain back by
2R BXTEN—4  2.Standard accessories: 1 set two-piece hard jaws 2ER S EAEN—4 2.Standard accessories: 1 set two—piece hard jaws . / /
IERBEEERE 3.High accuracy on repeating clamping JEREEREKE 3. High accuracy on repeating clamping g )
. w7 A -
J back mourting back mounting
G G
= [ —
F{ll T F Hgi T
# &
<|o|o|w bl olud K
[SHS SN —=—n K eeed T "—7T
g7 e
IEE B BISHTL |
front mounting N front mounting
#1& / Specification B /UNIT:mm #18 / Specification B4 /UNIT:mm
5t/ B K = Bipagn =~ SR cawm o $5 0 [ 51 15 5 F5 18 4 7 BABHILE BABRES @ PE o o 5 6 B 1 o5 1 A 15
Model/Spec Max. Allowable Torque Max. Gripping Force Weloht RPM SHiEampingiRan e G IRmping et s Mﬂdit;gﬁ Max. Allowable Torque Max. Gripping Force Weight & MR 0.D Clamping Range I.D. Clamping Range
N*m KN Kg mm mm odel/spec N*m KN Kg RPM e e
SK-04 44 12 3.1 2500 3-90 32-84 .
SK-05 63 15 4.4 2500 3-110 35-100 SKF-04 44 12 3.1 2500 3-90 32-84
SK-06 88 31 11.4 2000 8-160 55-150 SKF-05* 63 15 4.4 2500 3-110 35-100
SK-07 107 31 12.2 2000 8-180 62-170 SKF-06 88 31 11.4 2000 8-160 55-150
SK-08 128 33 16.2 2000 8-180 62-170 SKF-07 107 31 12.2 2000 8-180 62-170
SK-09 147 37 21.2 2000 11-220 70-210 SKF-08 128 33 16.2 2000 8-180 62-170 Z
:i‘:g A% e = L L Spmans SKF-09 147 37 21.2 2000 11-220 70-210
SK-14 P = 54 1580 15-350 160350 SKF-10 176 46 28 1800 12-260 80-250 —I
SK-20 320 68 140 700 30-500 152-480 SKF-14 225 55 54 1500 15-350 100-330 I
SK-25 420 78 235 850 80-630 198-601 SKF-16 245 60 74 1500 30-400 110-380
SKB-25 420 78 208.5 850 160-630 274-646
SK-32 460 88 442 500 150-800 240-750
SK-40 500 115 590 400 250-1000 425-950 B AR A B c D = E G H J K L
SK-50 500 125 850 300 320-1250 490-1200 Model/Spec
2SR SKF-04* 112 58 80 95 24 4.5 3(4)-M8x1.25P  46.5 19 31 8
Model/Spec A B c D E F G H J K L SKF-05* 132 60 100 115 32 4.5 3(4)-M8x1.25P 56 22 36 8
T g 58 a0 85 b 45 3 MBx1.25P 46.5 16 31 B SKF-06 167 66 130 147 45 5 3-M10x1.5P 67 25 42 10
SK-05 132 60 100 115 32 4.5 3-M8x1.25P 56 22 36 8 SKF-07 193 76 55 172 58 5 3-M10x1.5P 80 30 46 11
SK-06 167 66 130 147 45 5 3-M10x1.5P 67 25 42 10 SKF-08 203 76 160 176 58 5 3-M10x1.5P 80 30 46 11
SK-07 193 76 155 172 58 5 3-M10x1.5P 80 30 46 11 SKF-09 233 84 190 210 70 6 3-M12x1.75P 80 30 46 12
2E = £02 = 180 e i 3 sl il i 30 s i SKF-10 273 86 230 250 89 5.5 3-M12x1.75P 95 36 54 12
gi‘?i ;jg :; ;_23 3;2 ;g :2 g‘mi"l -;:": gg zg ;i :2 SKF-12 310 96 260 285 105 7 3-M12x1.75P 110 42 63 14
- & - x1.
e 5G 86 BEG chi RS 2 S EETED T 45 54 7 SKF-14 355 122 300 328 127 7 6-M12x1.75P 110 42 95 15
SK-14 355 122 300 328 127 - 6-M12x1.75E 110 4o a5 15 SKF-16 405 122 345 375 160 8.5 6-M14x2P 130 45 110 15
SK-16 405 122 345 375 160 2} 6-M14x2P 130 45 110 15
SK-20 500 140 420 458 205 5.5 6-M16x2P 166 50 132 19
SK-25 630 140 545 586 275 6.5 6-M16x2P 210 52 132.5 19
SKB-25 630 140 545 586 320 6.5 6-M16x2P 210 52 132.5 19
SK-32 800 159 450 368.3 320 20 6-M24x3P 225 52 132.5 19
SK-40 1000 190 910 950 460 10 6-M24x3P 329 85 177.5 24
SK-50 1250 195 1000 1100 560 10 6-M30x3.5P 367 85 277.5 24

. BTiIEREIEL B4 ; Note: The front mounting bolts are 4pcs
+ REEHMEMNER, LA BITHEM Subject to technology changes without prior information + REHEMERMER, LR SBTHEH Subject to technology changes without prior information
+ JEHEE R AT Non-standard requirements can be made * JEHEE K ATZTH Non-standard requirements can be made




	NTH精密手动卡盘样册.cdr_0001
	NTH精密手动卡盘样册.cdr_0002
	NTH精密手动卡盘样册.cdr_0003
	NTH精密手动卡盘样册.cdr_0004

